Zo6[EF=XHX)—L

(U—U &/ xt8R]

Teanss Japaa Leagoe
% > st VACE AN == e . o, J“‘T LR 5 F = L
l/'ylj‘%jl:l\yo DEwY | ua— |wazmeo]| SNE DR P ERIT| 5o x=o—| mmmram )g;n;f gﬁg _Ht,ij tﬁ;\ NE £
1) E v ¥ 3 - 0|3 - 3 - 0|3 - 0|4 x o] 12 24 0
, TEANES 3 - 0|2 - 1]o - 3|3 - of3 * 1| s 18 8
31 o — 3 - 0|2 - 1Jo - 3|3 - o|3 * 1| 8 16 10
4 BREELS o - 3|1 - 2]o - 3[2 - 1|1 * 3| 3 7 20
5 LM & AJ0 - 3]0 - 3|0 3|3 - 0 1 % 3| 3 7 19
6 F ¥ & 17]0 - 3|1 - 2|1 212 - 1 1 % 3 4 10 17
7 347-xX-£E— 0 - 3|3 - 0]3 0]3 - 0 3 * 1 9 18 7
8 WmELR® 0 - 3]0 - 3]0 3|1 - 2 0 *x 4| 1 3 22
1st BEEERT—IL
2nd TR E—V XR—L
[BFLyRTOvY: 1stAT—)
\ 12A1H
HEERT—IL
YEYH 3 vs 0 gL AE 1)a— 2 vs 1 FFRIT
51 57
S1 S~ 2/ 6 1 BE 8= S1 B e 2/ 6 4 0 AR FEAE
s2| W #mE [2 6 o0 5 B s2 &5 % o 26 2 =5 -
o AR mA [, § ¢ W FE I Ex ' [, 28 || P& EE
INEH ol NI o @EE 6 0 RE &
IXRIN— NT—SRXFH 0 vs 3 547 IR E— AR EYY 0 vs 3 AIMER
S1 —K A 0o 3 ¢ Danai Udomchoke S1 IR KER o 1 6 2 AR @A
s2 # EE 0o 6 7 (M W BR s2 TR o 1 2 g w2 NF B
o rEE AR [, 2 B RE 5 XE % o ie [ EEE-
Hll &+ e 02 HiE th— S Eth HE HiE
12A28 (£) O |
HEERT—IL
JEwWS 3 vs 0 S547-IX-E— 1)a— 3 vs 0 AMES
s1 B BE 2 6 4 Danai Udomchoke s1 M KT 2 Z é " BIE A
s2| wEEER |2 76w B 3 s2|  Es MM |2 6z o T mA
MR A 6 4 T HE Wk —# 6 4 RiF f—
D ML R 2] 62 i D WO wE 2/ 83 |0 WE S
IXR/I— T—S XA H 3 vs 0 REELEH HBAFEETY 1 vs 2 FEFIRIT
s1 =k A R X % s1 N AER 2 § § 1 WA EALH
s2 # Es 2 806 B EA s2 Il B 0 26 2 %% fh—
& ®h 6 2 FAN Fif EERES 6 7 (® RE &
D I+ 2| 76 b g D o3 = 00268 |2 E# %
12A3H (L) D
HOREET —L
JEvS 3 vs 0 FFIT ya— 0 vs 3 A7 ITXE—
S P &5 R WA EALH s1 r: e o 55 2 W B
s2 FB BR 2 80 INIRES" s2 S o 55 2 = R
INGE B 6 3 EE —= Wk —# 16 HiE th—
D Ml g 2| 63 % g D WO wE 0048 |2 S A
THR/I—FRT— XA A 3 vs 0 AINEAH HBIFEETY 2 vs 1 L BE
S1 =K A 2 ¢ 1 IR GAR s1 VR KED 20 45 o0 X %
s2 W EE 2 61 B - s wmgr (2 58 1|  Re
5 EL 77 I *E = 57 % BE
D Il 2] 62 HE B4 D a3 S 0) 87 m®]2 tAx g
12848 (B) ORE |
HRERT L
JEvS 3 vs 0 AIMNE R 1)a— 3 vs 0 HoE EEE
s FB BR 2 89 W PN s1 S 2 8 1 0 A %
s2|  mw#E |2 62 NF R s2 &4 % 2 80 o i wH
ol m WK |, &1 B A o BmE B [, §2 o A ERE
INGE FR e BiE ZH H#F X K
IXR/IS—D—2 Xt H 2 vs 1 FEFIRIT HBARFEETY 0 vs 3 SA47-IXE—
S1 ZK #mA 2 g g HEAR TAER S1 ek A 0 8 g 2 Danai Udomchoke
s2 W EE 2 8 3 5% s2 KE % o 16 2| mE B
& ®Bh T 6 (R RE & S5H EFEth 0 6 FHikE th—
D = £+ g1 m EE -2 D INEE_AED 087 |2 Brh 5 A




!f.x.'m’. F26E 7 —XHEK)—T [—5 % x@g%]

BF 2r | TERA T - ™ | I [ hEk | BH | BS %
LyFTOus VEYZ | | V2 wisre| LR A | FF BT 51220 | memram B 8 | e | vk | ok | )
1) E v % 2 - 1]l2 - 1|3 - 0|3 - 0|3 - 0|3 - 0|3 - Oo|7 = O| 19 38 4 1
2 TFA T 2 - 1|2 - 1|3 - of|2z - 1|o - 3|3 - of5 x 2| 13 | 30 | 16 [ 3
ay a —|1 - 2[{1 - 2 3 - 0[3 - o|l2z - 1|0 - 3|3 - o4 » 3| 13 26 20 4
4 EmeE¥Y~2|0 - 3|1 - 2|10 - 3 o - 3|1 - 2]0 - 3|2 - 1|1 * & 10 37 7
5 . ¥ & H|O0O - 3|0 - 3|0 - 3|3 - 0 1 - 2|/0 - 3|2 - 1|2 * 5| & 13 32 6
6 5 F | 17/0 - 3|1 - 2|1 - 2|2 - 1|2 - 1 0 - 3|3 - 0|3 = 4| 9 21 27 5
7 S47-xx—|0 - 3(3 - o|3 - o|3 - 0|3 - 3 -0 3 - 0|l = 1| 18 36 7 2
8 g tA®| 0 - 3|0 - 3|0 - 3|1 - 2|1 - 0 - 0 - 3 0 *x 7| 2 7 38 8
1st BRERET—NL
2nd IR — X F—A
[BFLyRTOYS12ndRTF—

1A20B8(&)D*E;
TINARE—VXR— L
YEwYY 3 vs 0 BIREETY hMEH 2 vs 1 - AA=Eo)
6 2 6 4
S1 S~ 2 6 1 0 IR KER S1 RIR BKHE 2 60 0 'K =
6 3 - 6 2
s2 Al EE 2 6 3 0 KA E s2 NE BE 2 6 0 0 = ZEA
ME BA 6 2 54 Eh MR B 3.6 FH FiE
D B 21 63 |0 wma D WE BN 0 46 |2 A R
IXRIN—RT—S XA H 2 vs 1 1J)o— FFERIT 0 vs 3 S547-IX-E—
6 0 1 6
S1 ZK #&A 2 6 2 0 ZH HE S1 1E% #Hh— 0 3 6 2 WH Bx
6 0 3 6
s2 ¥ hE 2 6 1 0 B thE s2 AR ZEARER 0 3 &6 2 HE R
# "k 26 Wk —i2 RE # 26 HE BN
b whl g3 12 & * P EE —% 0 46 2 HE H—
1821 B(L)D*
TILRUVE—V AR — L
JEwWH 2 vs 1 1)a— HINE S 0 vs 3 SA47-IX-E—
6 2 2 6
S1 SHb~ 2 60 0 ZTH H#A S1 AR fEAE 0 1 6 2 WH BE
6 3 - 3 6
s2 AL EE 2 60 0 BEH thid s2 NFE BE 0 1 6 2 = 3P
MR A 5 7 Wk —id B f— HE B
D INE B o) 57 |2 25 % D NE FeEs 00 26 2 ik H—
TXRA—RD—L T H 2 vs 1 BIREETY FFRT 3 vs 0 HELEE
6 2 6 7 (6)
S1 ZK A 2 6 3 0 Bl B S1 &5 #Hhi— 2 6 2 1 'K =
6 3
6 2 6 2
S2 B AE 2 6 2 0 KA E Ss2 AR FARER 2 60 0 Blg 5
AR B 16 INK - KER RE % [ N Hik
°l asmm sz |1 4, 2 e P BH % 2 48 1 EE R
1A228(A)O* &
TINARE—VXR— L
JEvY 2 vs 1 IFRA—IT=XFH AMESN 1 vs 2 R ERT
6 1 5 7
S1 S 2 6 1 0 fE EE S1 AR EXEA 0 3 &6 2 &% fh—
6 1 - 16
s2 Al EE 2 6 1 0 Tl &L S2 NE BE 2 6 3 1 BTE B
7 5
MH OBA # =2k BiE M- 1.6 RE %8
D B 0 wo 2 % ER D NE Eeis 0) 67 @2 wHE KE
1)a— 3 vs O BAFEEET) S547-IX-E— 3 vs 0 RERELHE
6 4 6 0
S1 EH th 2 3 6 1 INFR KR S1 WH B 2 6 0 0 BiE %8
6 3
6 4 6 2
S2 & % 2 6 1 0 XHE HE s2 WE K& 2 60 0 BlE %=
wmk —i2 6 4 SH Eh ®E W 6 4 B EA
D =@ Ja 2/ 64 |0 e D HE 2 62 |0 ER R




